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-‘ r u e [} r F q ‘ s e ? Area of a parallelogram

The area of the parallelogram is 30 cm?
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For every 2 red cushions there are 6 yellow.

COOOOQ

If there were |0 red cushions
‘ ‘ there would be 60 yellow.
)
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Tommy is sharing his 12 cookies with Jack.

I
Tommy gives Jack g of the cookies.

[ For every cookie Jack has, Tommy has 3 k (<o)
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Tfrue or False ? Introducing the ratio symbol

The ratio of red to blue to yellow countersis 3:2: 1|
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To make IS litres of orange cordial for a party,

Amir needs mix the cordial with water in the
ratio of |: 4

I buy cordidl in | litre bottles so I will
need to buy Y bottles.

Amir





